

MULATO NURSERY

Supplier:

Address:

Funds Available

PURCHASE ORDER

PROVINCIAL GOVERNMENT OF DAVAO DEL SUR

P.O. No.:

Date:

G-234-23CB

Matti, Digos City

Address		Prk. 6, Brgy. Concepcion, Makilala, Cotabato	Date:		DEC 18 204	23		
Email/Tel# :		bogart_mulato@yahoo.com / 09503663914	Mode of Procurement :		Competitive Biddin	Competitive Bidding		
T.I.N:		·	End-User :		PENRO			
PR. No.	/Date	1559-CB-23 10/13/2023						
Gentlem	nen :	The state of the fellowing antique publication						
Place of	f Deliver	Please furnish this office the following articles subject to y: PGSO Warehouse	o the terms and cond Delivery Term		tained herein: FOB Destination			
	Delivery				Credit Basis			
Drand Name								
No.	Unit		(if Applicable)	Qty	Unit Cost	Total Cost		
1	PCS	COCONUT DWARF SEEDLINGS	TACUNAN	6082	64.50	392,289.00		
		var. TACUNAN 6 to 9 months old or at least 6-8 leaves. The leaves should begin to split (with PCA Certification – must be attached in the bid documents during opening				•		
		FREE DELIVERY TO THE FOLLOWING BARANGAYS of Magsaysay						
		- Balnate ; Kanapulo; Maibo; Tacul; Tagaytay; Upper Bala; Lower Bala; San Isidro						
		FOR ITEM 1 PEACE & ORDER FUND 2023 COMMUNITY-BASED FOREST MANAGEMENT PROGRAM 8919-66 AGRICULTURAL AND						
		MARINE SUPPLIES EXPENSES 5-02-03-100 Php 392,289.00						
2	PCS	Rambutan Seedlings (Grafted)	S2	1600	32.00	51,200.00		
		(var: Certified Maharlika or S2, at least 50 cm. in ht. from the bottom of Poly-bag, Dormant stage leaf blades, stem size at least						
		at 7 mm in diameter, distance of union point is at least in 30 cm. from the basal stem section of a rootstock, growing scion has at			1			
		least 3 flushings or attached w/ at least 6 leaves upon the delivery,			-			
		size of scion is equal or not greater than the size of the union point of the rootstock, ready for outplanting, propagated in a 5"X 8"						
		Polybag)			1			
3	PCS	Lanzones Seedlings (Grafted) (var: Certified LONGKONG or DUCO at least 50 cm. in ht. from	LONGKONG & DUCO	1000	39.50	39,500.00		
		the bottom of Poly-bag, Dormant stage leaf blades, stem size at	5550					
		least at 7 mm in diameter, distance of union point is at least in 30 cm. from the basal section of a rootstock, growing scion has at						
		least 3 flushings or attached w/ at least 6 leaves upon the delivery,			77			
		size of scion is equal or not greater than the size of the union point of the rootstock, ready for outplanting,propagated in a 5"X 8"						
		Polybag						
4	PCS	Durian Seedlings (Grafted) (var: Certified PUYAT, at least 50 cm. in ht. from the bottom of	PUYAT	3000	32.00	96,000.00		
		Poly-bag, Dormant stage leaf blades, stem size at least at 7 mm in						
		diameter, distance of union point is at least in 30 cm. from the basal stem section of a rootstock, growing scion has at least 3						
		flushings or attached w/ at least 6 leaves upon the delivery, size of						
		scion is equal or not greater than the size of the union point of the rootstock, ready for outplanting,propagated in a 5"X 8" Polybag						
5	PCS	Mangosteen Seedlings	MANGOSTEEN	220	45.00	9,900.00		
		(var: at least 30 cm. in ht. from the bottom of Poly-bag, Dormant stage, stem size at least 7 mm. size in diameter, propagated in a						
6	PCS	5"X 8" Polybag) Avocado Seedlings (Non-Grafted)	EVERGREEN	1500	35.00	52,500.00		
Reminder		Delivery shall be made not later than 12:00 noon	EVENGREEN	1300	33.00	32,300.00		
Total Am		One Million Thirty Five Thousand One Hundred Forty Two Pesos						
words:	f failure to				TOTAL	1,035,142.00		
in case of	failure to	o make the full delivery within the time specified above, a penalty of one				shall be imposed.		
By the Authority of the Governor As per MO No. A Corio 1 2000								
Conforme MULATO NURSERY AS per MO No. 1. Series of 2022 Conforme MULATO NURSERY				AGAS .				
		Signature over Printed Name / Date	PU	uuulv	Governor	l l		
		57%-[2-77-10]- Date [2659-[2-27-6		PHER T. 7 PDRRMO	ΓA N			
		MGA 10 -7 20-161	1 179/21	2.41410	V			

CAFOA No.

59-11-27-11

12454-12-27-101



PURCHASE ORDER

PROVINCIAL GOVERNMENT OF DAVAO DEL SUR

Matti, Digos City

		FICIAL SE						
Supplier		MULATO NURSERY	P.O. No. :		G-234-23CB	77		
Address	:	Prk. 6, Brgy. Concepcion, Makilala, Cotabato	Date:		DEC 18 20	43		
Email/Te	el# :	bogart_mulato@yahoo.com / 09503663914	Mode of Proc	urement :	Competitive Biddir	ng		
T.I.N:			End-User :		PENRO			
PR. No.	/Date	1559-CB-23 10/13/2023	Little-OSGI .					
Gentlem		1003-013-20						
		Please furnish this office the following articles subject to	the terms and cond	litions con	tained herein:			
Place of	Delivery	PGSO Warehouse	Delivery Term	1:	FOB Destination			
Date of	Delivery	: Within 10 calendar days upon receipt of P.O.	Payment Terr	m:	Credit Basis			
Item No.	Unit	Item and Description	Brand Name (if Applicable)	Qty	Unit Cost	Total Cost		
7	PCS	Var: Hass or any variety, at least 30 cm. in ht. from the bottom of Poly-bag, Dormant stage, stem size at least at 7 mm size in diameter, ready for outplanting, propagated in a 5"X 8" Polybag) FREE DELIVERY TO THE FOLLOWING BARANGAYS: BARANGAY HALL SINORON AND SIBULAN STA, CRUZ AND PENRO-LGU, MATTI, DIGOS CITY 3%MORTALITY allowance for Seedlings FOR ITEM 2 TO 6 PROVINCIAL DISASTER RISK REDUCTION MANAGEMENT OFFICE WATERSHED PROTECTION AND DEVELOPMENT PROJECT 2023 9945 - 5 -02- 03- 100 AGRICULTURAL AND MARINE SUPPLIES EXPENSES Php 249,100.00 Rambutan Seedlings (Grafted)	52	1090	32.00	34,880.00		
		(var: Certified Maharlika or S2, at least 50 cm. in ht. from the bottom of Poly-bag, Dormant stage leaf blades, stem size at least at 7 mm in diameter, distance of union point is at least in 30 cm. from the basal stem section of a rootstock, growing scion has at least 3 flushings or attached w/ at least 6 leaves upon the delivery, size of scion is equal or not greater than the size of the union point of the rootstock, ready for outplanting, propagated in a 5"X 8" Polybag)						
8	PCS	Lanzones Seedlings (Grafted) (var: Certified LONGKONG or DUCO at least 50 cm. in ht. from the bottom of Poly-bag, Dormant stage leaf blades, stem size at least at 7 mm in diameter, distance of union point is at least in 30 cm. from the basal section of a rootstock, growing scion has at least 3 flushings or attached w/ at least 6 leaves upon the delivery, size of scion is equal or not greater than the size of the union point of the rootstock, ready for outplanting,propagated in a 5"X 8" Polybag	LONGKONG & DUCO	1385	39.50	54,707.50		
9	PCS	Durian Seedlings (Grafted) (var. Certified PUYAT, at least 50 cm. in ht. from the bottom of Poly-bag, Dormant stage leaf blades, stem size at least at 7 mm in diameter, distance of union point is at least in 30 cm. from the basal stem section of a rootstock, growing scion has at least 3 flushings or attached w/ at least 6 leaves upon the delivery, size of scion is equal or not greater than the size of the union point of the rootstock, ready for outplanting,propagated in a 5"X 8" Polybag	PUYAT	1150	32.00	36,800.00		
10	PCS	Mangosteen Seedlings (var: at least 30 cm. in ht. from the bottom of Poly-bag, Dormant stage, stem size at least 7 mm. size in diameter, propagated in a 5"X 8" Polybag)	MANGOSTEEN	230	45.00	10,350.00		
11	PCS	Avocado Seedlings (Non-Grafted)	EVERGREEN	375	35.00	13,125.00		
Reminde	r :	Delivery shall be made not later than 12:00 noon						
Total Amount in One Million Thirty Five Thousand One Hundred Forty Two Pesos					1,035,142.00			
words:	6.6-11 ·							
In case of failure to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent (1%) for everyday of delay shall be imposed. Very truly yours Conforme MULATO NURSERY As per MO NO 1, Series of 2022-MINE ROÑA CAGAS								
Conforme	3	MULATO NURSERY	. The per moling.	L' Selles 0	44400NNE RONA C	AGAS .		

Signature over Printed Name / Date

Date

CAFOA No.

Funds Available

908-12-29-101-1 12659-12-27-101-1 12664-12-27-101 Governor

CHRISTOPHER T. TAN



PURCHASE ORDER

PROVINCIAL GOVERNMENT OF DAVAO DEL SUR

Matti, Digos City

Supplier:	MULATO NURSERY	P.O. No. :	G-234-23CB	
Address:	Prk. 6, Brgy. Concepcion, Makilala, Cotabato	Date :	DEC 18 2023,	
Email/Tel# :	bogart_mulato@yahoo.com / 09503663914	Mode of Procurement :	Competitive Bidding	
T.I.N:		End-User :	PENRO	_

PR. No./Date Gentlemen:

1559-CB-23

10/13/2023

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery:

PGSO Warehouse Delivery Term: **FOB Destination**

Date of Delivery Within 10 calendar days upon receipt of P.O. Payment Term: **Credit Basis** Brand Name (if Applicable) Item No. **Unit Cost Total Cost** Unit Item and Description Qty Var: Hass or any variety, at least 30 cm. in ht. from the bottom of Poly-bag, Dormant stage, stem size at least at 7 mm size in diameter, ready for outplanting, propagated in a 5"X 8" Polybag) PCS 12 Rubber Tree Seedlings (Budded) USM 1 700 28.00 19,600.00 (Var. PB 260 or USM 1, at least 50 cm. in ht from the bottom of Poly-bag, Dormant stage leaf blades, stem size at least at 7 mm in diameter, distance of union point is at least in 30 cm. from the basal stem section of a rootstock, growing scion at least 2 flushings or attached w/ at least 6 leaves upon the delivery, size of scion is equal or not greater than the size of the union point of the rootstock, ready for outplanting, propagated in a 5"x 8" Polybag) 13 PCS Calamansi (Limonsito) Grafted CALAMANSI 201 28.00 5.628.00 at least 40 cm in ht. from the bottom of poly-bag, Dormant stage leaf blades, stem size at least at 7 mm in diameter, distance of union point is at least in 30 cm. from the basal stem section of a rootstock, growing scion has at least 3 flushings or attached w/ at least 6 leaves upon the delivery, size of scion is equal or not greater than the size of the union point of the rootstock, ready for outplanting, propagated in a 5"x 8" Polybag PCS 14 Bamboo Cuttings (Propagated planting materials derived **GIANT BAMBOO** 7497 24.50 183,676.50 from cuttings) (APOS) (var: Giant Bamboo, branch is at least 30 cm. in ht. from the nodal point, total ht. of branch is at least 50 cm from the bottom of polybag, with at least 2 to 3 nodal points of the 2.5 cm. diameter internodes) dormant stage and ready for outplanting, propagated in a 5"x 8" Polybag) FOR ITEM 7 TO 14 FREE DELIVERY TO THE FOLLOWING BARANGAYS: SINORON, STA. CRUZ, ASBANG (TALAMBATO) AND POBLACION MATANAO MENRO, POBLACION SULOP MENRO, POBLACION MALALAG MAENRO, & PENRO, MATTI, DIGOS CITY - 3%MORTALITY allowance for Seedlings PEACE AND ORDER FUND Local Government and Development Fund GENERAL FUND 2023 MANAGEMENT OFFICE WATERSHED PROTECTION AND DEVELOPMENT PROJECT 2023 9945 - 5 -02- 03- 100 AGRICULTURAL AND MARINE SUPPLIES EXPENSES Php 358,767.00 15 PCS BAMBOO CUTTINGS (Propagated planting materials derived **GIANT BAMBOO** 1428 24 50 34 986 00 from cuttings) (var: Giant Bamboo) branch is at least 30 cm. in ht. (APOS) from the nodal point, total ht. of branch is at least 50 cm from the bottom of polybag, with at least 2 to 3 nodal points of the 2.5 cm diameter internodes, dormant stage and ready for outplanting) -Free delivery to PENRO **FOR ITEM 15** PROVINCIAL DISASTER RISK REDUCTION MANAGEMENT

Reminder: Delivery shall be made not later than 12:00 noon

Total Amount in One Million Thirty Five Thousand One Hundred Forty Two Pesos words:

TOTAL 1,035,142.00

In case of failure to make the full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent (1%) for everyday of delay shall be imposed.

Very truly yours

FERNANDO 15. MULATO JAL. 12 83 23 By the Authority of the Bovernor

Signature over Printed Name / Date

50x - 12.27-001-1 TOPHER T. TAN

12453-12-27-101 Date 5790-12-27-101-1 CAFOA No.

Funds Available

Conforme

1614- 12-07W

YVONNE ROÑA CAGAS

Governor



Funds Available

PURCHASE ORDER

PROVINCIAL GOVERNMENT OF DAVAO DEL SUR

		AFICIAL SEA	BO No :		C 224 22CB		
Supplier : Address :		MULATO NURSERY Prk. 6, Brgy. Concepcion, Makilala, Cotabato	P.O. No. : Date :		G-234-23CB DEC 1 8 2023		
To all/To	ш.	bogart_mulato@yahoo.com / 09503663914	Mode of Procure	ment '	Competitive Biddin	10	
Email/Te	1# :	bogar_mulato@yanoo.com/ 09303003914		rement : Competitive Bidding		.9	
T.I.N :	D - 1 -	4550 OD 00 40/40/0000	End-User:		PENRO		
PR. No./		1559-CB-23 10/13/2023					
Contactin		Please furnish this office the following articles subject to		ns con	tained herein:		
Place of			Delivery Term :		FOB Destination		
Date of D	elivery	: Within 10 calendar days upon receipt of P.O.	Payment Term :	Т	Credit Basis		
No.	Unit	Item and Description	Brand Name (if Applicable)	Qty	Unit Cost	Total Cost	
		FUND 2023 9947 Mineral Resource Development Program 2023 9945 - 5 -02- 03- 100 AGRICULTURAL AND MARINE SUPPLIES EXPENSES Php 34,986.00				4 035 442 00	
		*********				1,035,142.00	
		COMMUNITY-BASED FOREST MANAGEMENT PROGRAM and					
		WATERSHED PROTECTION AND DEVELOPMENT PROJECT AND MINERAL RESOURCE DEVELOPMENT PROGRAM USE					
		PEACE & ORDER FUND 2023 COMMUNITY-BASED FOREST MANAGEMENT PROGRAM 8919-66 AGRICULTURAL AND MARINE SUPPLIES EXPENSES 5-02-03-100 PROVINCIAL DISASTER RISK REDUCTION MANAGEMENT OFFICE WATERSHED PROTECTION AND DEVELOPMENT PROJECT 2023 9945 - 5 -02- 03- 100 AGRICULTURAL AND MARINE SUPPLIES EXPENSES PEACE AND ORDER FUND Local Government and Development Fund GENERAL FUND 2023 MANAGEMENT OFFICE WATERSHED PROTECTION AND DEVELOPMENT PROJECT 2023 9945 - 5 -02- 03- 100					
		AGRICULTURAL AND MARINE SUPPLIES EXPENSES PROVINCIAL DISASTER RISK REDUCTION MANAGEMENT FUND 2023 9947 Mineral Resource Development Program 2023 9945 - 5 -02- 03- 100 AGRICULTURAL AND MARINE SUPPLIES EXPENSES The Supplier shall notify the PGSO a day before the actual					
		delivery.			The state of the s		
		Complete delivery shall be strictly observed by the supplier and no partial delivery shall be allowed except in meritorious cases such as fortuitous event, or by act of the Government or upon the approval of the Head of the Procuring Entity.					
			4				
Reminde	r :	Delivery shall be made not later than 12:00 noon					
Total Amwords:	ount in	One Million Thirty Five Thousand One Hundred Forty Two Pesos			TOTAL	1,035,142.00	
	failure to	o make the full delivery within the time specified above, a penalty of one	tenth (1/10) of one perc	ent (1%) for everyday of dela	y shall be imposed.	
Conforme		PERMITHED S. MILLETO JA. 11 N & MULATO NURSERY	By the Authority of the	he Gove	Very truly yours	'AGAS	
Jonnoime		Signature over Printed Name / Date	As per MO NO.	wir	Governor		
Funds Av	ailable	CAFOA No.	CHRIS/I UP III	RRMO	11 113		
		(3,024 (5,5),10)	/				